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‘Anthropometric Lab’ was established by

1
2
3.
4

Raibern
Galton
Alport

Pavlov
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A person completed a computer course in 5 months. Now he
completed the same course in 3 months. Then the saving score is
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One of the following concept is not related to constructivism

1.
2.
3.
4.

collaborative learning
scaffolding
zone of proximal development

character building
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‘Learning through small frames’ concept was introduced by

1.
2.
3.
4.

Watson
Bandura

Skinner

John locke
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In this stage of learning curve learning seems to be stopped
1. initial stage

2. fluctuation stage
3. plateau stage
4. optimum stage
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Theory of Instruction is proposed by

1. Thorndike

2. Bruner

3. Piaget

4. Vygotsky
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Second step in Pavlov classical conditioning experiment
1. Unconditioned stimulus — Unconditioned Response

2. Conditioned stimulus — Unconditioned Stimulus —

Unconditioned Response

3. Conditioned stimulus — Conditioned Response

4. Unconditioned stimulus — Conditioned Response
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According to this theory ‘Attitude’ plays an important role in
transfer of learning
1. Theory of formal discipline

2 Theory of Transposition
3. Theory of generalization
4 Theory of Ideals
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10.

‘Thematic Apperception Test’ was developed by

N

€
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Kent - Rosnaff

Murre - Morgan

Crow - Crow

. Bellack - Bellack

Sr8E )5S BY' ErFoBOIST
3065 - %%

S0 - IS

& -

Bers - Bk

Fight and Flight hormone

1. Thyroxine

2. Estrogen

3. Adrinaline

4. Growth hormone
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12.

The part of the brain that regulates motor skills is

1. cerebrum
2. mid brain
3. cerebellum
4. brain stem
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The concept of ‘Libido” was explained by
1. Freud

2. Erikson

3. Alport

4. Pavlov

ODEY PSS ISBONIE

1 wron&
2. BES
3. 6P
4 >SS



The maximum number of characters in file name extension
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One of the following is not a network type
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1. LAN

2. SPAN
3. MAN
4. WAN

One of the following is not written by A.S. Neil
1. The problem child

2. The problem parent

3. The problem teacher

4. The little girl at the window
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17.

Input - output (I/O) device

1. Speaker
2. Scanner
3. Modem

4. Key board
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One of the following is not an abstract concept
1. Democracy

2. Happiness

3. Volume

4. Sunrise
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‘Self control plays a vital role in success’ said by

1. Duckworth

2. Thorndike

3. Wilson

4. Stuvart
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Identify the mismatched pair

1. Stern - Intelligence Quotient

2. Alfred Binet - Mental age

3. Terman - Classification of intelligence quotient
4. Thorndike -  Multiple intelligence
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The third stage in the process of creativity is
l. Preparatory stage

2. Incubation stage
3. [Nlumination stage
4. Verification stage
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CAVD tool was designed by
1. Spearman

2. Thurstone

3. Thorndike

4. Pavlov
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The cognitive development stage that starts from
birth to 2 years of age is

1. Sensory motor stage
2. Pre operational stage
3. Concrete operational stage
4. Pre conceptual stage
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“There is a co-relation between individual development and
school facilities” is stated by
l. Freeman

2. J.B. Watson
3. W.C. Bagley
4. Havighurst
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The book ‘Hereditary genious’ is written by
Galton

Hilgard
Watson
Dugdale
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One of the error in rating scales is
1. Pygmallion effect

2. Objectivity
3. Hollow effect
4. Intervening variable
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‘John Stuwart Mill’ is associated with

b=

Experimental research
Descriptive research
Historical research

Observation
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As per RTE — 2009 free and compulsory education should be
provided to this age group children

1.
2.
3.
4.

1 - 15 years
5 - 18 years
3 - 14 years
6 - 14 years

3)65°§:7°§er &0 - 2009 (W5°0 e 5062306.5 2)65553
EOBOWIVIT SABI*DS[AT°I°0

1.

2
3.
4

1-15 60;5693@@3
5 - 18 Jos& oren
3-14 26055959(\)5"00
6 - 14 JosSyo e



28.

29.

30.

The variable that is under the control of observer is
l. independent variable

2. dependent variable

3 intervening variable
4. associative variable
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Child line Tol-Free number
éeg 838 &°5 @3 502250

l. 108
2 100
3. 1098
4 1089

‘Freedom promotes self reliance in children’ said by
Spera and Radke

William and Relae

- A

Crow and Crow
4, Baumrind and Black
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Telugu
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Telugu Methodology
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62.

63.

English

A lot of pollution caused by factories.

Choose the correct verb to fill in the blank.

1. are being

2 have

3. are

4 is

Nothing can happen,

Choose the correct question tag.
1. can he ?

2 can it?
3. can’t it ?
4

can she?

Swami replied that he was speaking the truth.
Then the headmaster told him that he would talk to his parents.

In the above sentences the word ‘then’ is used to indicate

1. a feeling

2 a sequence
3. an emotion
4 a location



64.

65.

66.

67.

She is going to buy a new car.

This sentence talks about

l.

2
3.
4

a future action
a discontinued action
a habitual action

a just completed action

The plural form of ‘half’ is

l.

2
3.
4

halfs
halfes
halffs

halves

Choose the grammatically correct sentence.

l.

2
3.
4

I would liking to thanks my tutor.
I would be liked to thank my tutor.
I would be like to thank my tutor.
I would like to thank my tutor.

Choose the model verb that can be the weaker form of ‘must’.

l.

2
3.
4

can
should
shall

will



68.

69.

70.

71.

I don’t enjoy watching any sports apart from cricket.
In the above sentence ‘apart from” means

1. among all

2 out of
3. except for
4

between the two

While he was sleeping, the bell rang.

This sentence has

1. two main clauses

2 two subordinate clauses

3. one main clause and one subordinate clause
4 two relative clauses

The graphics in that new computer game I bought are quite

good. , I soon got bored with playing it.

Choose the word that best links the two sentences.

1. Even so

2 Even though
3. So

4 Therefore

Choose the simple sentence from the following.

1. He wanted to meet me.

2 He met me when he wanted.
3. Meet me when you want.

4 Meet me if you can.



72.

73.

74.

75.

Who has broken this chair?

The passive voice of this sentence begins with

l.

2
3.
4

This chair
By whom
That chair
Whose chair

“Break of day” means

l.

2
3.
4

early morning
late in the evening
afternoon

night

Choose the antonym of the word “‘specific”.

l.

2
3.
4

particular
regular
legal

general

The kids are looking forward to their holiday vacation.

The meaning of the phrasal verb “look forward” is

1.

2
3.
4

to search for information
to remove something
to expect something with pleasure

study something to learn



76.

77.

78.

79.

earth moves round sun.
Choose the correct articles to complete the sentence above.
1. The, the
2 A, an
3. The, the
4 An, the

Choose the sentence with the correct word order.

1. She arrives always late in the morning.
2 She arrives late always in the morning.
3. She in the morning arrives late always.
4 She always arrives late in the morning.

Choose the word that can’t begin with a capital letter.
1. Tenali

2 Painter

3. Vijayanagaram

4

America

Choose the part of the letter written at the right side
bottom of the page.

1. Body of the letter
2. Subscription

3. Heading

4. Salutation
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82.

83.

Choose the correct alphabetical order of these words.

protect, provoke, proposal, province

1. proposal, protect, province, provoke
2. province, provoke, protect, proposal
3. proposal, province, provoke, Protect
4. Protect, proposal, province, provoke

Choose the correct spelling of the word.

1. imediate
2 immediate
3. immediete
4 imediete

Choose the suffix that can be used to make the
past form of the verb ‘burn’.

1. d
2. ly
3. t

4. y

Read the following passage.

Paper has many uses. We must not waste paper and must learn
how to recycle waste material into paper. It may be a good idea
to make sure paper is not wasted and to use recycled paper
whenever we use.

This passage describes

1. various uses of paper

2 various kinds of paper

3. the importance of recycling to produce paper
4

how to waste paper
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85.

86.

87.

Read the following passage.

Paper has many uses. We must not waste paper and must learn
how to recycle waste material into paper. It may be a good idea
to make sure paper is not wasted and to use recycled paper
whenever we use.
It is a good idea
1. to waste paper

not to waste paper

2
3. not to use paper
4

to learn how to fold a paper

The combination of Anglo-Saxon and Anglo- Norman
gave birth to

1. Baltic English
2. Norman English
3. Old English

4. Middle English

‘Intensive listening’ happens
1. while listening

2 pre-listening

3. post listening
4

automatic listening

The following is not a part of Analytic Method.
1. Word Method

2 Phonic Method

3. Sentence Method

4 Story Method
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90.

The following is not a technique.

1.

2
3.
4

role play
pair work
language game

suggestopedia

The use of mother tongue is discarded in

l.

2
3.
4

University Method
Direct Method
Bilingual Method
Donson’s Method

Selection and gradation are the principles that are used in

l.

2
3.
4

content organization of the syllabus
lesson planning
framing a time table

making TLM
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Mathematics

Write the greatest three digit number which does not change on
reversing its digits
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1 111
2. 988
3. 999
4 899

Smallest two digit number greater than the biggest single digit
number is

2.5 08 DY Hops 508 DEBS Bok ©0Se DY) dogg
1 9

2. 10
3. 11
4 12

Multiplicative inverse of 1 + 4 X 4 is
6 9] 3

{l + i} X 4 B, Koeas™d AS%300
6 9] 3

23

27

22

23

27

22

27

23

l.
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12 cm. x 8 cm rectangular paper is cut out from the square
paper having length of 16 cm. side. Then the area of the
remaining paper in cm” is

16 20.20.0 20230 Ko 2.5 SEBJPSE SPAS0 08
12 20.. X 8 0.0, B SHITY) 5DoNS 1ADS sPAS0
DTOL0 (33589 ?ooé%fbéogefs)

1
2.
3.
4

190
140
180
160

Simplify 18 cm. 6 mm. x 5

1.
2.
3.
4.

93 cm. 3 mm.
92 cm. 5 mm.
930 cm.

93 cm.

18 20.55. 6 Ww.ho. x5 K15°§&§aoi§z?°

1.

L

93 20.20. 3 ..
92 20.2. 5 Q..
930 20..

93 20..

The following alphabet has no line symmetry
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l.

2.
3.
4

A

B
P
O
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98.

99.

100.

The least ratio of 24 hours and 6 hr. 30 minutes

24 Ko&reo 508050 6 Ko. 30 Q. &Boo%). EIR K)Z.Beg

1 96:13
2. 24:13
3. 48:13
4 48:15
x#0and 87%=2"3then x =

x# 058050 877 =2" wand x =

1 0

2. 3

3. 6

4 9

If the side of a square is 5 cm, its diagonal length is (in cm)

28 SSR 2z §Tod 5 0., ©00S SFo
P& (20.2.08°%

. 5
2. 10

3. 52
4. 245

The cost of a bicycle is Rs. 5000. If it is sold after the discount
15%, then the selling price is (in rupees)

28 2385 $8 8. 5,000 5085 15% &) 065
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1 5750
2. 5500
3. 4250
4 4750
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103.

A lorry covers 14 km. distance within 25 minutes then
the same lorry covers distance in 5 hours is (kms distance)

28 @014 3.0, G0 (PATEI0TLH HeEY 00 25 AW en
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5750 (8.2 o)

1 166
2. 168
3. 169
4 170

“If 10 is subtracted from half of the K is equal to 15”. The
following one represents this

“K &o0%), B0 e 5008 10 D SIS 15 5:3308”
1308 73S° A BRI

. 2K+10=15

2. 2K-10=15

3. £—10=15
2

4. £+10=15
2

x+7 4
=— thenx =
3x+16 7

x+7 4
= — oI X =
3x+16 7
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|
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106.

When a number is divided by 10, 20 and 30 and the remainders
are 5, 15, 25 respectively, then the number is

10 B 2°R0DS 5 F30. 20 T 2°R0DS 15 T30, 30 D K303
25 330 S3i59) dowg
35

1

2 45
3. 55
4 65

The cost of 7% meters of cloth is Rs. 12%, then the cost of

‘2’ meters is (in rupees)

7% D&Y FEY Ko g P . 12% 0008 2" ey
g P8 (Errahed’)
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Moulali got 20% loss by selling a fan for Rs. 3000/- what is the
cost price (in rupees)

SFO® 2.8 5 G 3000/~ ) 20% S S0, eonsS
F§ §°F) B (SrroHes?)

1 3250
2 3200
3. 3500
4 3750



107. The triangle with sides Scm, 7cm, lcm is

1. scalene triangle

2. equilateral triangle

3. perpendicular triangle
4. triangle not possible

5 0.0, 7 00.20. 1 0.20.0 Sodod’ 8003 (@abwo
L duSoerso (Debeo

QX020 (Babzso

©o8’es (Beheo

L

DEbeo AegHeE

108. 1m’ inKilo liters

1 559 1OBHH VIrSHS §6°00s
1 1
2. 10
3. 100
4 1000

1

109. At what rate of interest for the principle Rs. 6360 is 25 years

will give Rs. 1378/- as interest.

1
éo;ﬁé&m‘i)é 9 Ben S0eHS v . 6360/- e 25
no;se%ooes"; ;sé 8. 1378 S35y,

1. 8

2 8
2

3 8%
3



110. 1-10, 11-20, 21-30 ... are this type of class intervals
1. Exclusive class interval
2. Inclusive class interval
3. Middle class interval
4,
1—

Mean class interval

10, 11-20, 21-30 ... 903 B8 S5S SOKB 0SB0~
1. AIITEAN0Y) SORB 903850
2. O3 S5KA 0850
3. 333655 STKD 90550
4 VOO0 BTRY 90BT0

111. If the sides of a right angled triangle are a, b, c. Where ‘c’ is the
diagonal then the area of the angled triangle

0028 (Debe ey SWHM a, b, ¢ K& ‘C’ SRy
oS (Babes éra“’e:go
1. lab
2
1
2. —bc
2
1
3. —ac
2

4. labc
2



112. The Speed requires to cover distance of 135 meters
within 10 seconds is (in mt/sec)

135 ibe;c;% 5505 10 D¥0E ¥506%08° SoreoEs
SSOYS 350 (Bo./2.08°%

1 13.2
2. 15.2
3. 14.2
4 13.5

113.  If one side and one adjacent angle movement is given then we
can construct the following

1. Quadrilateral

2. Triangle
3. Trapezium
4. Rhombus

28 20n0 HOAH 28 &) §'e0 Foden ad)S ($od
TS B IBYosKeO

1. 75&)6323230
2. (@ahemo

3. | B»RcHo
4. o020



114.

_)
If aray y 1is drawn from the line segment AB. When ‘C’ is a

point in between AB and makes angles on AB at ‘C’ are
(5x+10)° and 70° the ‘x’ value

_ -
AB B 56558 Ko 28 Doty ‘€ S00d 8¥easn (y &

R es &8ereen C’ S8 AB S° Do Elereen SV
(5x+10)° 558650 70° 900035 ‘X’ DS

1. 10°
2. 20°
3. 30°

4. 40°



115.

116.

Maths Methodology

Find the odd one in the following

1.
2.
3.
4.

Euclid observation method
Deductive method
Principle application method

Inductive method

308 FAS° I GHTAD K8050s

1.

= W N

c58& $Psae B
™ [ev]
DKSS DEA
[ev)
RS (PETH DS
eSKSS DS
[on]

This is not a 3D shape

1.
2.
3.
4.

Cube
Cone
Cylinder
Rectangle

38 3D es3°50 3°»

1.
2.
3.

P30

oD

DI°N0
[©)]

B 5830

ad



117. ‘Highly composite numbers’ concept was introduced by

1. Varahamihir

2. Pingala

3. Ramanujan

4. Sakunthaladevi

VI0HS DOANE HoPgen’ @ PSS (SIFDYIO

1. SOOI
DONY
oSSR

L

FH0STR

118. According to ‘Multi Sensory Approach’ percentage of learning
takes place by vision is

2530 0(QAD GHHI0 (FT°E0 WrEE0 TRT® IWHI S0

1 30%
2 40%
3. 50%
4 60%



119. ‘The Schoolmaster’s assistant’ book was written by
1 Thomas Dil Worth
2 Robert Gill
3. Longwood
4. Pearson
%5 23, & SrH0) POl ©F PITR) oD
L 8 &S 5§
ocb AS
(5]

erohDE

L

230‘536“‘)5_

120.  Error detection and correction is the specification of
1. Knowledge
2. Understanding
3. Application
4. Skill
S*XO KHP0IE0 HBCH VEVAHEO B BIRSTEIS

1. 2°50

=y
2. [DINYanoeris
3. ISlevertafe)
4.

g‘@m§o



121.

122.

EVS

Rusting is a

1. Physical Change
2. Chemical Change
3. Galvanisation

4. Crystalisation
) DS I 28
1. AT et)
EIPO0S NVet)
CERN
D)38s5e

- W N

The Acid used to remove ink stains on clothes is

1. Carbonic acid

2 Acetic acid

3. Oxalic acid

4 Citric acid

200D VI FTOR0SEAS &HETA0T 0

1. 57078 e300
2. QEF e300
3. smd§ &0
4. DS esx00



123.

124.

Resins are found in

l.

2.
3.
4

Cassia
Acacia
Hevea braziliensis

Pinus

BHS0S EOAR &o&rsSd

1.

L

SORE
e§o3§o&
TR0 (BAOHNT

DRI

[on

Ribosomes contain

d w0~

= P

L

Lipids and Proteins
DNA and Proteins
RNA and Proteins
Only DNA

S8 50e0 DD ZOR &oeron.

ODey DB (2Pedy
&.S.D. HBcE (FPediy
6.28.2. Hoa FES
&R, S|SR



125. The blood group named ‘Universal Recipient’ is
TEBE KIS’ 0 booswd EESEO
AB

1

2. O

3. A

4 B

126. Arthropod means
1. Jointed legs
2. Curved legs

3. Straight legs
4. Small legs

eﬁ@:ﬁeci eI
L S KXo s
2. S08Y o)
3. BHT &) 5K
4. W) 5o
127. The hormone that directs estrogen for the formation of ovum in
females
1. Growth Hormone
2. Leutinizing Hormone
3. Follicle Stimulating Hormone

4. Thyroid Stimulating Hormone

Qo8° ©0%0 )8 BIBERE SuFFass (FE20T
3387

1. ARG ZJBSB&‘SJ

2 Orge3BROR FPE°

3. O3S JmngBeloR B85y

4. Porowd PwgBelofR 5981



128.

129.

130.

Theory of ‘Natural Selection’ was proposed by

1.
2.
3.
4.

Lamarck
Charles Darwin
Mendal

Sutton and Morgan

BEY 3T£20" BTOSR) (RSTBOVITE:

1.

L

e7°55°52r

900 csoaDSS
(qp]

30ES

DS SH8%m Irors
o N

‘Adam’s apple’ is formed due to elongation of

1
2.
3.
4

Bone

Thyroid gland
Thyroid Cartilage
Parathyroid gland

30 DEKLO SQ ‘BEN) ATRS T AYS08.

1. D8

2. Borowné (Kod

3. Boroné Soysoord
4. o gorond (K0d
Expand DDT

DDT 238055

1
2.
3.
4

Difluro Diphenyl Trichloro Ethane
Dichloro Diphenyl Trichloro Ethane
Diphenyl Difluro Trichloro Ethyne
Diphenyl Dichloro Trichloro Ethyne



131.

132.

The number of vibrations per second (vib / sec) is called
1. Wavelength

2. Amplitude

3. Wave Speed

4. Frequency

2.8 DEDHS” TD 50%T0 BoggiH 3o° woero.

1. SBoK QCAS?SO
EODS D8N
SB0K K0

L

3’%‘63‘@550

Japanese encephalitis is caused by

1. Bacteria
2. Protozoan
3. Virus
4. Fungi
EBETY TG (DT ISHIPBT) D SenrBaSe.
1. erisosr
o
2. PSS
3. QCS%
4.  3doen



133.

134.

Social Studies

Yagnavatikas were found in

l.

2.
3.
4

Harappa and Lothal
Lothal and Mohenjodaro
Kalibangan and Lothal
Kalibangan and Harappa

ADZIT eI WANOYES (oS
=y

1.

L

) $08c50 S
S 050 JvroS s’
SO0KS 50550 'S
S*D20KS VAN T

Rabindranath Tagore renounced his “Knighthood” against the
incident of

1.
2.
3.
4.

Partition of Bengal
Jallianwala Bagh massacre
Imposing heavy taxes on Indian goods

British imposed a harsh treaty on the Khalifa

BAOETSE irE S5 “BET0E” DB S5ROTEAS 5°8ed
05 DOWES

1.

L

Borrs Jg3esS

23000 Teerh H80e50

aEB0H SNYOD WO SEen

DB 35 2D D& 5B Fpd ©HDB0OSEO



135. The head of the Central Government is
1. Prime Minister
2. Vice President
3. Home Minister
4, President
éo@i @2;539503 9NN
1. @S0l
é‘éc"@‘é@

TR0 008

L

O
136. Domingo Paes visited Vijayanagara Kingdom during the period
of
1. Bukkaraya - I
2. Harihara raya - 11
3. Sri Krishnadeva Raya
4. Achyuthadeva Raya
EDOR" DONE IBERIAE ToermgR) SR S0 V0BT

1. 0858 20%) CeaSoe
BOES BPEBETC0000

&SRB scranen

L

SN Bsoeasen



137. Nagarjuna Sagar Dam was built in the year

138.

139.

RS PHS eS8y DDYOT2ES BOIBYT0
e

1 1966
2. 1967
3. 1968
4 1969

The origin of Indian music are traced in
1. Rig Veda

2. Sama Veda

3. Yajur Veda

4. Atharvna Veda

280D Vo Soreren EOASE

1. 637%5(:50
2. F S350
3. diowiﬁosdo

4. eac‘;SCESgan)cSo

Shimla is cooler than Delhi due to the impact of
1. Sea

2. Equator
3. Height
4. Plain

&8 508 23 B (HarSo IOS IO Eoenod.
™ ™ ™

1. dw(Eso

2. S0
3. Q&8

4. OO0



140. Seven seats in Andhra Pradesh Legislative Assembly are
reserved for

1. Women

2. Scheduled Castes

3. Backward Classes

4. Scheduled Tribes

SOFRTE A0S DBE0 Ve FT 0B duby I

1. INCFOALNOY

2. g Horen

3. F0BES SEKBeD
4. ?,ACérgeg BKen

141. Identify the metallic mineral in the following

1. Limestone
2 Coal

3. Copper

4 Salt

S Pz KOS08.

1. m@@mooo
2. NSRS
N
3. O°R
4, Plniletar) &)



142.

143.

“Rottela Panduga” is celebrated at
1. Kaja Peerullah Hussani Dargah
2. Bara Shaheed Dargah
3. Ameen Peer Dargah
4. Hazrath Kale Mastan Dargah
“6°é833e> D0LHK” S B CSG/'; ;Sg A To W) ISbTelhaleb)
L Soer D T &0
™ N
2 aroe WarE GO
3. o556 alog
4

TS 58 IS SO

The planet that is called as “Earth’s twin”

1. Venus

2. Mars

3. Jupiter

4. Mercury

R EooE), E50 (5707 9 Deosntd
1. HEE

2 ONEEIED

3. B

4 206308



144. “Right to work’ is mentioned in this part
Directive principles

Fundamental duties

1.

2.

3. Fundamental Rights
4. Residual powers

D

D) Bs K0S’ FoBDETD

L es38% drlgre
2. (PEDE oo
3. (EDE rEen
4. VI8 RS o

145. Heuristic Method is created by
1. John Dewey
2. Karl Pearson
3. W. H. Kilpatrick
4. H.E. Armstrong
ST DEAY ErFOBODIT
1. 2 SIgo
52§ ANV
&es: 0. $S;BE
0.3, &8 UToR

L



146.

147.

“The student handles equipment proficiently and takes the
readings” This belongs to the following Domain

1.
2.
3.
4.

Cognitive Domain
Affective Domain
Psycho Motor Domain

Cultural Domain

“Arg0 HOETO™ QYIS S’ DeRH Béoren
SRTCNBONE0” Bs S0 0220805

1.

L

23S BoKo

=g

PR S0Ko

SSDE 75e>s°e§&§ SoKo
évoézro)e‘% SokKo

“Student recognizes acid and base by using blue, red litmus
papers” This belongs to the following academic standard

1.
2.
3.
4.

Information skills, projects
Experiments — Field investigations
Asking Questions — making hypothesis

Conceptual understanding

"8 58 @@&5, A O &5 SPASPOS SHETR0D
&) FOOD HYILD” WSO Bs ITYDI7°€20.

1.

L

VST ESED SYeTgen, (FBRe
PEBrres - F800805en
()00 - HBZYSe D0
DRSS oS



148.

149.

These guide the teaching process

1.
2.
3.
4.

Goals
Aims
Objectives

Specifications

ST PR OFITI0 T2

1.

2
3.
4

?i;ﬁ::goo

SR
[on]

OF 0

bﬁsﬁds@w

Minerals come under these resources

1.
2.
3.
4.

Physical Resources
Biological Resources
Print material Resource

Technical Resources

PO I Bt 55K ($odE S0

1.
2.
3.

TRE SSHen

BIE S5en

0B B SSHen
FodDs 530



150. Identify the fourth step in Henry Morrison’s Teaching steps
1. Exploration
2. Recitation
3. Assimilation
4. Organization

TR APV Eol), TG FrTed Tosd

1. ea?fzsbm
2. STI05E0
™
3. 0855
4. ;55;52%§5ea
(]
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